[bookmark: _29sf1i9xkjms]Lafayette College  |  Electrical and Computer Engineering
[bookmark: _356xowf1x3e8]
[bookmark: _8qxufahgea5m]
[bookmark: _h6jk0hs7bbai]
[bookmark: _rprtqfioz1r4]
[bookmark: _7zc9mzc0czaz]
[bookmark: _7jh4zw12u6f4]PacMAN Installation Guide
[bookmark: _ghxmof55pp6]ECE 492 Spring 2017














Assembled by Emilie Grybos & Meridith Guro




[bookmark: _sb53us2zdsjs]Getting Started
This document is meant to be used for installing a PacMAN version 0.8 into a fully functional pack. You will need a fully assembled PacMAN board, Phillips head screwdriver, 2 4-40 x 5/8 Button Head Socket Cap Screw, and 44-40 x 1/4 Button Head Socket Cap Screw as seen below. **Note: Always follow Proper Safety Procedures while Installing the PacMAN. Wear safety glasses, remove all jewelry/ medal, enlist a team member to be on Safety Watch.**
[image: IMG_3420.JPG]
Figure 1. Needed tools for installation.
[bookmark: _yt9ytl1zf6zc]Installation Process
[bookmark: _hbac46k0pmt6]Step One: Install 37 Pin Connector 
[image: IMG_3421.JPG]
Figure 2. Installed 37 Pin connector using the two 4-40 x 5/8 Button Head Socket Cap Screw.
[bookmark: _7iqomerzt8um]Step Two: Install Charge, LCO, AMS Connectors
[image: IMG_3422.JPG]
Figure 3. Installed Charge, LCO, and AMS connectors. **Note (as of 04/10/2017) that the green and white wires are Charge in packs 2, 3, and 4 while LCO is the red and black. In pack 1, this is backwards. LCO is green and white while charge is red and black** 
[bookmark: _gvbxv0kkcyji]Step Three: Install Pack Current Sensor Connector
[image: ]
Figure 4. Installed Pack Current Sensor
[bookmark: _awefo71jz0d1]Step Four: Install Control Panel Connector
[image: ]
Figure 5. Installed Control Panel Connector 
[bookmark: _ysu1hsacuzeo]Step Five: Install PacMAN 
[image: IMG_3429.JPG]
Figure 6. Install PacMAN into the Pack using the four 4-40 x 1/4 Button Head Socket Cap Screw screws and the Phillips Head screwdriver. The screws are to be screwed into the 4 standoffs mounted on inside side panel beneath the LCD.  
[bookmark: _vu6lixgja1js]Step Six: Power PacMAN
[image: IMG_3430.JPG]
Figure 7. Installed Power Connector. LCD should turn on, AMS boards should ACK the PacMAN, Power LED should be on on the PacMAN, Heartbeat LED should be blinking. You have now successfully installed a PacMAN board into a pack.





image11.jpg




image10.jpg




image01.jpg
g R
SRR A T N
R

iy

i
it e o At

P
< s Rt A AL i .

\ Mot .
e a1 & Yo ke » Wﬁmw R
Fu ah ¥ -qvk w;.vxg ‘ v ﬂ e QA e T e
N R e 8 3
‘"':. 3&. ERRY

A e e L A
2 haan »wu; - A oy
> l 0‘ « X
' % m&n 3 n
. B R R A 20 8 R0 A wr A

R e e ST L ey
e TR e

=R R e i
PR AR S e A v
R AR R T e

SAA AR AR GRE b 6 A e

b R b Y S e ob e e oy E
AR o

*.3 . . s
N W :—‘“ . 3 .
- < £ A AR N A o, -3 .o
. e ua ks o A% R ARAMEA B v 4 A e A e t
. P AAENBERE S il U et e iy e
. by » E ) e s‘nwnm“nm‘h«:mwmm.ww
. R e A A A it NI LY -
LTI Sm et e S sy e e el D - m

BA b8 Rn,

e o

A ety ey et
o2 X 4
i wormm
[ e
I et~ 4o

N @,

4
- N.0.30A, 240VAC

| 281 chia L L





image08.jpg
Cf—

1 =
[
U

\ 300%0%&&

\—-2000099 3





image13.jpg
o |
. MR\
.
4 [ VB

e

Yol =5
i ﬂ———qan—crw——uugl
_ © | B e 5
Bl o A

3% MHSO
.%e...@
H3LNdWOI ININIOVNYN NIvd

LAAVAVY |




image03.jpg
5 & op

3y

\P:}

\
X

DASAS

L wesesaest \

"
-





image09.jpg
svsia

96021S9SON

N

L,

PR (SYPYYYY

T

wa_@ Equ’ =
yvi-3152 MHSO g :
youwo mw @ —

D.ﬂ-. ven NI_30WH
oSN._._t oN3avas NoLS3d
.»,_zmzuw«uiv_u:




